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#include <stdio.h>
int main() {

int array[11];
int 1,j,temp;

for (i=0;i<5;i++)
scanf("%d",&array[il]);

for (1=0;1<5-1;1++)1 // [CAANOE
for(j=0;j<5-1-i;j++){ // tba/NElE
if(array[jl>array[j+1]1){
temp=array[j];
array[jl=array[j+1];
array[j+1]=temp;

}
}

for (i=0;i<5;i++)
printf("%d ",array[i]);

return 0;

}
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#include <stdio.h>
int main() {

int array[11];
int 1,j,temp;

O(N)

for (i=0;i<5;i++)
scanf("%d",&array[il]);

O(N?)

for (1=0;1<5;1++)1 // tb4X[E[&
for(j=0;j<5-1-i;j++){ // tb4/NEE
if(array[jl>array[j+1]){
temp=array[j];
array[jl=array[j+1];
array[j+1]=temp;

}
}

= N IRAHK -
AR AR ENT
RAR !

O(N)

for (i=0;i<5;i++)
printf("%d ",array[i]);

return 0;

}
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finclude <stdio.h>
int main()

{

int num[10], flag;
int 1, j, temp=0;
for (i=0; i<5; i++) {
scanf("%d", &num[i]);
}
for (i=0; i<5; i++) { WITHER
flag = i; — '
for (jeirl; 3<5; j++) { dice sort $ ./selectionsort.exe
if (num[flagl>num[j]){
flag = j; //#&EH/MELE
}
}
temp = num[flag];
num[flag] = num[i];
num[i] = temp;
for(j=0; j<5; j++) {
printf("%d ", num[jl);
}
printf("\n");
}

return 0;
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#include <stdio.h>

int main()

{

int num[10], flag;
int i, j, temp=0;

for (1=0; 1<5; 1++) {
scanf("%d", &snum[i]);
}

O(N?)

for (i=0; i<5; i++) {
flag = 1i;
for (j=i+1; j<5; j++) {
if (num[flagl>num[j]){
} flag = j; //HRFIBR/NMENWMIE
}
temp = num[flag];
num[flag] = num[i];
num[i] = temp;
for(j=0; j<5; j++) {
printf("%d ", num[j1);
}
printf("\n");
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FA—IxBEHLT
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}

1
J

return 0;
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for (i=0;i<5-1;1i++){
for(j=0;3j<5-1-1;j++){
if(num[JjI>num[j+1]){

temp=num[j];
num[jl=num[j+1];
num[j+1]=temp;

for (i=0; i§5; i++) {

flag = 1;

for (j=i+1; j<5; j++) {
if (num[flagl>num[j]){
: flag = j; //&/MEMLE

}

temp = num[flag];

num[flag] = num[i];

num[i] = temp;
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//;;;clude <stdio.h>
#tdefine MAX 10

void showList(int number[])
{
int 1;
for(i = 0; i1 < MAX; 1++)
printf("%d ", number[i]);
printf("\n");

void swap(int *x, int *y)

int t;
T = *X; *X = *y; *y = t;

}

int partition(int number[], int left, int
right)

int 1 = left, j, pivot = right;
for(j = left; j < right; j++) {

if(number[j] < number[pivot])
swap(&number[i++], &number[jl);

}

int main() { swap(&number[i], &number([pivot]);

: ; return 1i;
int 1, number[MAX] = {0}; } eturn 1; 1T 4 BB
for(i = 0; i < MAX; 1""!') void quickSort(int number[], int left, _'r"‘n
scanf("%d", &number[i]); int right) dice - sort $ ./quicksort.exe
printf("Before Sort: "); { 21 20 33 19 2 11 39 10 99 60
showList(number); int q; Before Sort: 21 20 33 19 2 11 39 10 99 60
quickSort(number, 0, MAX-1); if(left < ;1ght) { . 21 20 33 19 2 11 39 10 60 99
rintf("After Sort ,.), q = partition(number, left, right); pAENCRECIEE 205 RN R-1 RN o R 1"
P . : ! showList(number); 10 19 11 20 33 39 21 60 99
showList(number); quickSort(number, left, g-1); 10 11 19 20 33 39 21 60 99
quickSort(number, q+1, right); 10 11 19 20 21 39 33 60 99
return 0; } 10 11 19 20 21 33 39 60 99

After Sort: 2 10 11 19 20 21 33 39 60 99
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FAEEFA (bubble sort)
EEIEHEFE L (selection sort)
1 ABERZ (insertion sort)

RIEBEF)% (quick sort)
WTEH % (heap sort)
i B BEFE % (shell sort)
HEHE % (radix sort)
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BEESHEERA(Direct Merge Sort)

kES & 05 (k-Way Merge)

Z A& A (Polyphase Merge)
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= 3: gsort()

pAnclude <stdio.h>
#include <stdlib.h> // @ElEHREERE
#include <time.h> // BERAAERE kL
#define MAX 10
void showList(int number[])
{
int 1i;
for(i = 0; i < MAX; i++)
printf("%d ", number[i]);
printf("\n");

int cmp ( const void *a , const void *b )

return *(int *)a - *(int *)b;
}
int main()
{
int i, array[MAX];
srand( time(NULL) ); // EELEfE T
for(i = 0; i < MAX; i++) {
array[i] = rand() % 100 + 1;
}

showList(array);

Iqsort(array, MAX, sizeof(array[0]), cmp)1

showList(array);

libray: stdlib.h AE#

7 qgsort() R - 5L
e 5l S U R
quick sort F VB -

HITHERE

dice - sort § ./gsort.exe
49 10 8 3 96 92 78 37

3 8 10 37 43 49 78 86

86 43
92 96




= 3: gsort()
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= 3: gsort()

gsort(array, MAX, sizeof(array[0]), cmp)

a

int cmpqconst void *a , const void *bp

{
return *(int *)a - *(int *)b;

}

-
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